cooooooooooon

B GB-603EB 0o00mm
ood 4 -MEBUBHER 70 RV GEBAEE)
40
€ oooo
¥
ol o
= Py 4-MBBURLE$ TR
G F | —
FA M 170 R5
EREEEH allas LY ‘
DARE \D wlsl
Q¢ r-l _Lgﬁ o i; e ————
& b < o ~
sienmoasE |7 L
(EFD) ,
)
S0 v *
\ & OFF
INEE %
Y 210
9.5
20 | 7 EREEESW 10
L 210 Ny 7E 3 107
= f 141
0 0 (1 sbd - oooooon
4-M6 BUBHER L1
20 32 23 70 70 4-MEBURRR TR 4+
€ /——‘ —\:9 8 m | SaLLLILE LN
2 a8 T o crrees’] W4 i il 12
TAM oy U ON 7 £ T4
— 170 RS v
ERSERN ac 78 ca y fars o = NN 4-R8
TREE = LAWY . sl TEE - o & .
o 3 g/. o j
ol ™ I——?. 35\5__8':,g > ! C_:_%.,? B |
seem LT | O B N T Y 53 " S
TREE | N 1= L2931 2%y FBAR
EHDH) 0 i of
BEERY RESET =
=g —_— L I R N A
} P OFF, a mf\,}_‘/\
103.5 48R
70 FREAZESW 113 RIEOS & (EMBOEER L V)
70 70 by 74 3 117 103mmMOIBETT,
310 — 5 ‘1o RSB ROREIH LT
1MmORRE%E -8 2B TTo
OO0 FPODO Ooooooomoooon
$13 .57 16.5
20 #E 20 32 23 250 F VA
ﬁ' N 8 H‘ (ERcEET)
T ,':::[}E::::E]:::::h'.:q TRIP q?, r+ }_ H
! ) - i R EEERE
_ERBERR : E+ B3y ka5 ad j ( L
TREE : ' =m0 31
; ' CE) o o p 1 = .
ol [T : € yo 8 8 3 = uF _:i
RS 1 ] N V_ ¥
BeEm L ' 7 257 KBRS JL ! i&
TAEE ! : : i 4 P Dj
SRR . OFF ¥
: ¥
o 230
2 27.5E 93.5
5 102.5 107.5 103
51 3. 107
141

GB-603EB

ooooooo
D[
o

oo

goooo

oo

600A0 0010

o —

0,004l
100 125150 200 300 4

500600 8001000 1500 2000 3000 4000 5000

DMooboobooooao

178

OoOoodod



